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Use the information from the resource booklet and the boxes in this booklet, in addition to your
business knowledge, to complete this task.

Kete Kai started in Auckland in 2011 with a simple idea - to supply alow-cost food bo<

of natural ingredients and recipes for households, to allow them tolFme.cook and
share great family meals.

The business founders placed a real focus on bocial sustainabilitpUor their customers

and for their employees. They worked hard to maintain good relationships.

Sales grew rapidly in the years up to 2016.

TASK

(a) Using Resources A and B, fully explain TWO possible causes of Kefe Kals rapid sales
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ln 201.6, Kete Kai made the decision to apply the same business model in Sydney,

Australia. Investor interest was higtu arrd Kete Kai raised sufficient capital to fund cash

flow for the Sydney growth strategy.

(b) Using Resources C and D, fully explain TWO possible effects on Kete Kai of ils decision to
expand into Sydney.
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Kete Kai's first premises in Sydney were hired on a short-term basis. Once initial

expansion problems had been overcome, Kete Kai decided it would need to purchase a

iarger Australian warehouse location to operate from in the long term. It looked at tr+'o

possible solutions.

(c) Using Resource E, evaluate BOTH possible solutions.

ln your answer:

. fully explain ONE positive effect that EACH solution would have on the business

. state the solution you recommend

. justify your recommendation by explaining why it would be a better solution for Kete Kai '

than the other option.
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Kete Kai's next step was to purchase a large-scale refrigeration r:nit, to be installed at the

new location to keep meats, fruits, and vegetables fresh. The production manager has

researched -ur,y -od"lr and has suggested two possible solutions to choose from.

(d) Using Resource E evaluate BOTH possible solutions.

ln your answer:

. fully explain oNE positive effect that EACH solution would have on the hrsiness

. state the solution You recommend

. justify your recommendation by explaining why it would be a better solution tof Kete Kai

than the other solution.
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Subject: Level 3 Business Studies Standard: 91381 Total score: M5 

Q 
Grade 
score 

Annotation 

1 M5 

Part (a) 

The candidate has fully explained possible causes of the rapid growth in 
sales. Holistically, the two explanations of the causes provide sufficient 
evidence for the answer to reach a low Merit level. 

Part (b) 

The two effects of the expansion have been fully explained – for example, 
“Customers will experience delays, meaning unhappy customers and a 
tarnished reputation, which will impact on profits.” Statements such as ‘… 
impacts on profit, due to the cost of setting up business in Sydney and will 
impact Kete Kai’s finances long term … ” are weak Fully Explained effects; 
however, holistically this answer provides enough evidence for Merit. 

Part (c) 

The effect of option 1 is fully explained. The candidate has related the 
positive effect directly to the impact on the business, such as “ … increasing 
productivity, increasing business reputation … long-term profits increase”. 
Option two is partially explained, but the assumption is made that increased 
sales automatically increase profit, without any other effects on the 
business. The recommendation does provide a little additional evidence, but 
not to the extent required to achieve an Excellence grade. 

Part (d) 

The candidate has fully explained an effect of each solution, with solution B 
gaining additional evidence through the explanation of the recommendation. 
The recommendation does not provide enough additional business 
knowledge or depth to enable the candidate to reach Excellence level. 

Overall, this is a Merit response to the task. 
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